ITEM	DESCRIPTION	DELTA MUNICIPAL SUPPLY				FORTILINE WATERWORKS				
		Estimated Number of Units	Unit	Unit Price	Amount	Estimated Number of Units	Unit	Unit Price	Amount	
1	Nipple, rough brass, 3/4-inch diameter x 1-3/8inch long, in accordance with enclosed Minimum Specifications.	1,500	EA.	\$1.21	\$1,815.00	1,500	EA.	\$1.25	\$1,875.00	
2	Nipple, rough brass, 3/4-inch diameter x 2-inch long, in accordance with enclosed Minimum Specifications.	300	EA.	\$1.50	\$450.00	300	EA.	\$1.58	\$474.00	
3	Nipple, rough brass, 3/4-inch diameter x 3-inch long, in accordance with enclosed Minimum Specifications.	2,000	EA.	\$2.03	\$4,060.00	2000	EA.	\$2.11	\$4,220.00	
4	Nipple, rough brass, 3/4-inch diameter x 6-inch long, in accordance with enclosed Minimum Specifications.	2,000	EA.	\$3.82	\$7,640.00	2000	EA.	\$4.01	\$8,020.00	
5	Nipple, rough brass, 3/4-inch diameter x 12-inch long, in accordance with enclosed Minimum Specifications.	3,600	EA.	\$7.32	\$26,352.00	3600	EA.	\$7.70	\$27,720.00	
6	Nipple, rough brass, 1-inch diameter x 1-1/2 inch long, in accordance with enclosed Minimum Specifications.	100	EA.	\$1.75	\$175.00	100	EA.	\$1.85	\$185.00	
7	Nipple, rough brass, 1-inch diameter x 2-inch long, in accordance with enclosed Minimum Specifications.	400	EA.	\$2.16	\$864.00	400	EA.	\$2.28	\$912.00	
8	Nipple, rough brass, 1-inch diameter x 3-inch long, in accordance with enclosed Minimum Specifications.	100	EA.	\$2.91	\$291.00	100	EA.	\$3.06	\$306.00	

Witness Signature:	
--------------------	--

ITEM	DESCRIPTION	DEL	TA MU	NICIPAL S	SUPPLY	FO	RTILIN	E WATER\	WORKS
		Estimated Number of Units	Unit	Unit Price	Amount	Estimated Number of Units	Unit	Unit Price	Amount
9	Nipple, rough brass, 1-inch diameter x 6-inch long, in accordance with enclosed Minimum Specifications.  Bidding On:	300	EA.	\$5.58	\$1,674.00	300	EA.	\$5.86	\$1,758.00
10	Nipple, rough brass, 1-inch diameter x 12-inch long, in accordance with enclosed Minimum Specifications.  Bidding On:	300	EA.	\$10.75	\$3,225.00	300	EA.	\$11.54	\$3,462.00
11	Nipple, rough brass, 1-1/2 inch diameter x 15-inch long, in accordance with enclosed Minimum Specifications.  Bidding On:	500	EA.	\$26.95	\$13,475.00	500	EA.	\$22.97	\$11,485.00
12	Nipple, rough brass, 1-1/2 inch diameter x 2-inch long, in accordance with enclosed Minimum Specifications.	800	EA.	\$3.69	\$2,952.00	800	EA.	\$3.89	\$3,112.00
13	Nipple, rough brass, 1-1/2 inch diameter x 6-inch long, in accordance with enclosed Minimum Specifications.	700	EA.	\$9.80	\$6,860.00	700	EA.	\$10.31	\$7,217.00
14	Nipple, rough brass, 2-inch diameter x 2-inch long, in accordance with enclosed Minimum Specifications.	400	EA.	\$5.24	\$2,096.00	400	EA.	\$5.51	\$2,204.00
15	Nipple, rough brass, 2-inch diameter x 4-inch long, in accordance with enclosed Minimum Specifications.	100	EA.	\$8.54	\$854.00	100	EA.	\$8.98	\$898.00
16	Nipple, rough brass, 2-inch diameter x 6-inch long, in accordance with enclosed Minimum Specifications.	300	EA.	\$12.39	\$3,717.00	300	EA.	\$13.26	\$3,978.00

Witness Signature:	
--------------------	--

Agent Signature: \_\_\_\_\_

Purchasing Director Signature:

BOC Award Approval Date:

ITEM	ITEM DESCRIPTION		DELTA MUNICIPAL SUPPLY			FORTILINE WATERWORKS			
		Estimated Number of Units	Unit	Unit Price	Amount	Estimated Number of Units	Unit	Unit Price	Amount
17	Nipple, rough brass, 2-inch diameter x 8-inch long, in accordance with enclosed Minimum Specifications.	100	EA.	\$16.82	\$1,682.00	100	EA.	\$17.70	\$1,770.00
18	Nipple, rough brass, 2-inch diameter x 16-inch long, in accordance with enclosed Minimum Specifications.	250	EA.	\$36.95	\$9,237.50	250	EA.	\$34.85	\$8,712.50
19	Nipple, rough brass, 3-inch diameter x 4-inch long, in accordance with enclosed Minimum Specifications.	30	EA.	\$24.94	\$748.20	30	EA.	\$26.19	\$785.70
20	Nipple, rough brass, 3-inch diameter x 8-inch long, in accordance with enclosed Minimum Specifications.	50	EA.	\$47.36	\$2,368.00	50	EA.	\$49.74	\$2,487.00
21	Nipple, rough brass, 3-inch diameter x 12-inch long, in accordance with enclosed Minimum Specifications.	50	EA.	\$48.15	\$2,407.50	50	EA.	\$72.38	\$3,619.00
22	Nipple, rough brass, 4-inch diameter x 4-inch long, in accordance with enclosed Minimum Specifications.	10	EA.	\$36.86	\$368.60	10	EA.	\$38.71	\$387.10
23	Nipple, rough brass, 4-inch diameter x 18-inch long, in accordance with enclosed Minimum Specifications.	10	EA.	\$166.92	\$1,669.20	10	EA.	\$162.76	\$1,627.60
24	Nipple, rough brass, 3-inch diameter x 2-5/8 inch long (close), in accordance with enclosed Minimum Specifications.	60	EA.	\$18.60	\$1,116.00	60	EA.	\$19.78	\$1,186.80
25	Nipple, rough brass, 4-inch diameter x 8-inch long, in accordance with enclosed Minimum Specifications.	10	EA.	\$67.15	\$671.50	10	EA.	\$70.81	\$708.10
26	Nipple, rough brass, 4-inch diameter x 12-inch long, and in accordance with enclosed Minimum Specifications.	10	EA.	\$98.30	\$983.00	10	EA.	\$103.34	\$1,033.36
27	Elbow, rough brass, 3/4-inch x 45 degrees, female, and in accordance with enclosed Minimum Specifications.	100	EA.	\$7.60	\$760.00	100	EA.	\$8.63	\$863.00

Witness Signature:	
--------------------	--

ITEM	DESCRIPTION	DEL	DELTA MUNICIPAL SUPPLY				FORTILINE WATERWORKS			
		Estimated Number of Units	Unit	Unit Price	Amount	Estimated Number of Units	Unit	Unit Price	Amount	
28	Elbow, rough brass, 1-inch x 45 degrees, female, and in accordance with enclosed Minimum Specifications.	45	EA.	\$13.05	\$1,559.40	45	EA.	\$14.71	\$661.95	
29	Elbow, rough brass, 1-1/2 inch x 45 degrees, female, and in accordance with enclosed Minimum Specifications.	60	EA.	\$25.99	\$1,559.40	60	EA.	\$29.42	\$1,765.20	
30	Elbow, rough brass, 2-inch x 45 degrees, female, and in accordance with enclosed Minimum Specifications.	30	EA.	\$39.50	\$1,185.00	30	EA.	\$42.80	\$1,284.00	
31	Elbow, rough brass, 3/4-inch x 90 degrees, female, and in accordance with enclosed Minimum Specifications.	2,100	EA.	\$5.69	\$11,949.00	2100	EA.	\$5.95	\$12,495.00	
32	Elbow, rough brass, 1-inch x 90 degrees, female, and in accordance with enclosed Minimum Specifications.	2	EA.	\$9.34	\$18.68	2	EA.	N/B	N/B	
33	Elbow, rough brass, 1-1/2 inch x 90 degrees, female, and in accordance with enclosed Minimum Specifications.	2,100	EA.	\$18.69	\$39,249.00	2100	EA.	\$5.95	\$12,495.00	
34	Elbow, rough brass, 2-inch x 90 degrees, female, and in accordance with enclosed Minimum Specifications.	200	EA.	\$30.85	\$6,170.00	200	EA.	\$31.21	\$6,242.00	
35	Elbow, rough brass, 3-inch x 90 degrees, female, and in accordance with enclosed Minimum Specifications.	40	EA.	\$106.91	\$4,276.40	40	EA.	\$115.30	\$4,612.00	
36	Elbow, rough brass, 4-inch x 90 degrees, female, and in accordance with enclosed Minimum Specifications.	10	EA.	\$218.45	\$2,184.50	10	EA.	\$259.60	\$2,596.00	
37	Elbow, rough brass, 1-inch x 3/4-inch (reducing), female, and in accordance with enclosed Minimum Specifications	600	EA.	\$14.95	\$8,970.00	600	EA.	\$17.24	\$10,344.00	
38	Elbow, rough brass, 2-inch x 1-1/2 inch (reducing), female, and in accordance with enclosed Minimum Specifications.	100	EA.	\$50.68	\$5,068.00	100	EA.	\$59.55	\$5,955.00	

Witness Signature:	
--------------------	--

ITEM	ITEM DESCRIPTION			DELTA MUNICIPAL SUPPLY				FORTILINE WATERWORKS			
		Estimated Number of Units	Unit	Unit Price	Amount	Estimated Number of Units	Unit	Unit Price	Amount		
39	Ell, rough brass, 3/4-inch x 90 degrees, street elbow, and in accordance with enclosed Minimum Specifications.	1,200	EA.	\$7.74	\$9,288.00	1200	EA.	\$8.18	\$9,816.00		
40	Ell, rough brass, 1-inch x 90 degrees, street elbow, and in accordance with enclosed Minimum Specifications.	50	EA.	\$12.94	\$647.00	50	EA.	\$13.39	\$669.50		
41	Ell, rough brass, 1-1/2 inch x 90 degrees, street elbow, and in accordance with enclosed Minimum Specifications.	50	EA.	\$25.87	\$1,293.50	50	EA.	\$26.77	\$1,338.50		
42	Ell, rough brass, 2-inch x 90 degrees, street elbow, and in accordance with enclosed Minimum Specifications.	10	EA.	\$43.84	\$438.40	10	EA.	\$45.36	\$453.60		
43	Tee, rough brass, 3/4-inch, and in accordance with enclosed Minimum Specifications.	500	EA.	\$7.17	\$3,585.00	500	EA.	\$7.42	\$3,710.00		
44	Tee, rough brass, 1-inch, and in accordance with enclosed Minimum Specifications.	70	EA.	\$12.92	\$904.40	70	EA.	\$13.39	\$937.30		
45	Tee, rough brass, 1-1/2 inch, and in accordance with enclosed Minimum Specifications.	75	EA.	\$25.15	\$1,886.25	75	EA.	\$26.02	\$1,951.50		
46	Tee, rough brass, 1-1/4 inch, and in accordance with enclosed Minimum Specifications.	75	EA.	\$22.27	\$1,670.25	75	EA.	\$23.05	\$1,728.75		
47	Tee, rough brass, 2-inch, and in accordance with enclosed Minimum Specifications.	100	EA.	\$41.50	\$4,150.00	100	EA.	\$43.14	\$4,314.00		
48	Tee, rough brass, 3-inch, and in accordance with enclosed Minimum Specifications.	10	EA.	\$145.62	\$1,456.20	10	EA.	\$174.64	\$1,746.40		
49	Tee, rough brass, 4-inch, and in accordance with enclosed Minimum Specifications.	10	EA.	\$361.32	\$3,613.20	10	EA.	\$433.31	\$4,333.10		
50	Reducer, rough brass, 1-inch x 3/4-inch, female on both ends, and in accordance with enclosed Minimum Specifications.	1,800	EA.	\$9.65	\$17,370.00	1800	EA.	\$10.09	\$18,162.00		
51	Reducer, rough brass, 2-inch x 1-1/2 inch, female on both ends, and in accordance with enclosed Minimum Specifications.	700	EA.	\$40.08	\$28,056.00	700	EA.	\$46.11	\$32,277.00		

Witness Signature:	
--------------------	--

ITEM	DESCRIPTION	DELTA MUNICIPAL SUPPLY			FORTILINE WATERWORKS				
		Estimated Number of Units	Unit	Unit Price	Amount	Estimated Number of Units	Unit	Unit Price	Amount
52	Coupling, rough brass, 3/4-inch (sleeves), and in accordance with enclosed Minimum Specifications.	5,200	EA.	\$5.01	\$26,052.00	5200	EA.	\$5.22	\$27,144.00
53	Coupling, rough brass, 1-inch (sleeves), and in accordance with enclosed Minimum Specifications.	500	EA.	\$8.55	\$4,275.00	500	EA.	\$8.91	\$4,455.00
54	Coupling, rough brass, 1-1/4 inch (sleeves), and in accordance with enclosed Minimum Specifications.	10	EA.	\$14.37	\$143.70	10	EA.	\$14.86	\$148.60
55	Coupling, rough brass, 1-1/2 inch (sleeves), and in accordance with enclosed Minimum Specifications.	600	EA.	\$18.69	\$11,214.00	600	EA.	\$19.34	\$11,604.00
56	Coupling, rough brass, 2-inch (sleeves), and in accordance with enclosed Minimum Specifications.	200	EA.	\$30.85	\$6,170.00	200	EA.	\$31.98	\$6,396.00
57	Coupling, rough brass, 2-1/2 inch (sleeves), and in accordance with enclosed Minimum Specifications.	10	EA.	\$52.50	\$525.00	10	EA.	\$60.57	\$605.70
58	Coupling, rough brass, 3-inch (sleeves), and in accordance with enclosed Minimum Specifications.	30	EA.	\$69.99	\$2,099.70	30	EA.	\$83.95	\$2,518.50
59	Coupling, rough brass, 4-inch (sleeves), and in accordance with enclosed Minimum Specifications.	10	EA.	\$144.21	\$1,442.10	10	EA.	\$172.96	\$1,729.60
60	Plug, rough brass, 3/4-inch, square head and in accordance with enclosed Minimum Specifications.	200	EA.	\$3.59	\$718.00	200	EA.	\$3.72	\$744.00
61	Plug, rough brass, 2-inch, square head, and in accordance with enclosed Minimum Specifications.	100	EA.	\$16.51	\$1,651.00	100	EA.	\$17.09	\$1,709.00
62	Plug, rough brass, 4-inch, square head, and in accordance with enclosed Minimum Specifications.	10	EA.	\$79.96	\$799.60	10	EA.	\$86.24	\$862.40
63	Plug, rough brass, 1-inch, square head, and in accordance with enclosed Minimum Specifications.	50	EA.	\$16.49	\$824.50	50	EA.	\$5.95	\$297.50
64	Plug, rough brass, 1-1/2 inch, square head, and in accordance with enclosed Minimum Specifications.	200	EA.	\$10.02	\$2,004.00	200	EA.	\$10.41	\$2,082.00

Witness Signature:	
--------------------	--

ITEM	DESCRIPTION	DEL	DELTA MUNICIPAL SUPPLY				RTILIN	E WATERV	VORKS
		Estimated Number of Units	Unit	Unit Price	Amount	Estimated Number of Units	Unit	Unit Price	Amount
65	Hex Bushing, rough brass, screwed fittings, 1-1/4 inch x 3/4-inch, and in accordance with enclosed Minimum Specifications.	50	EA.	\$8.96	\$448.00	50	EA.	\$9.29	\$464.50
66	Hex Bushing, rough brass, screwed fittings, 2-inch x 3/4-inch, and in accordance with enclosed Minimum Specifications.	100	EA.	\$15.70	\$1,570.00	100	EA.		
67	Hex Bushing, rough brass, screwed fittings, 1-inch x 3/4-inch, and in accordance with enclosed Minimum Specifications.	600	EA.	\$5.26	\$3,156.00	600	EA.	\$5.45	\$3,270.00
68	Hex Bushing, rough brass, screwed fittings, 1-1/4-inch x 1-inch, and in accordance with enclosed Minimum Specifications.	10	EA.	\$8.96	\$89.60	10	EA.	\$9.29	\$92.90
69	Hex Bushing, rough brass, screwed fittings, 1-1/2-inch x 1-inch, and in accordance with enclosed Minimum Specifications.	10	EA.	\$12.75	\$127.50	10	EA.	\$13.20	\$132.00
70	Hex Bushing, rough brass, screwed fittings, 2-inch x 1-inch, and in accordance with enclosed Minimum Specifications.	10	EA.	\$15.41	\$154.10	10	EA.	\$16.28	\$162.80
71	Hex Bushing, rough brass, screwed fittings, 1-1/2 inch x 1-1/4 inch, and in accordance with enclosed Minimum Specifications.	50	EA.	\$12.75	\$637.50	50	EA.	\$13.20	\$660.00
72	Hex Bushing, rough brass, screwed fittings, 1-1/2 inch x 3/4-inch, and in accordance with enclosed Minimum Specifications.	600	EA.	\$12.49	\$7,494.00	600	EA.	\$13.20	\$7,920.00
73	Hex Bushing, rough brass, screwed fittings, 3-inch x 1-1/2 inch, and in accordance with enclosed Minimum Specifications.	10	EA.	\$56.08	\$560.80	10	EA.	\$60.49	\$604.90
74	Hex Bushing, rough brass, screwed fittings, 2-inch x 1-1/2 inch, and in accordance with enclosed Minimum Specifications.	200	EA.	\$15.74	\$3,148.00	200	EA.	\$16.28	\$3,256.00
75	Hex Bushing, rough brass, screwed fittings, 4-inch x 2-inch, and in accordance with enclosed Minimum Specifications.	10	EA.	\$144.87	\$1,448.70	10	EA.	\$156.26	\$1,562.60
76	Hex Bushing, rough brass, screwed fittings, 3-inch x 2-inch, and in accordance with enclosed Minimum Specifications.	100	EA.	\$56.08	\$5,608.00	100	EA.	\$60.50	\$6,050.00
77	Stop, brass, ball valve, 1-1/2 inch Corporation, CC x IP, and in accordance with enclosed Minimum Specifications; AY McD-	300	EA.	\$84.09	\$25,227.00	300	EA.	\$89.07	\$26,721.00
78	Stop, brass, ball valve curb, 3/4-inch IP x IP Full Port, and in accordance with enclosed Minimum Specifications; AY McD-7610W,	1,500	EA.	\$33.70	\$50,550.00	1500	EA.	\$36.11	\$54,165.00

Witness Signature:		

BOC Award Approval Date: \_\_\_\_\_

1

ITEM	DESCRIPTION	DEL	DELTA MUNICIPAL SUPPLY				FORTILINE WATERWORKS			
		Estimated Number of Units	Unit	Unit Price	Amount	Estimated Number of Units	Unit	Unit Price	Amount	
79	Stop, brass, ball valve curb, 1-inch IP x IP, Full Port, and in accordance with enclosed Minimum Specifications; AY McD-76101W,	100	EA.	\$53.20	\$5,320.00	100	EA.	\$56.41	\$5,641.00	
80.	Stop, brass, ball valve curb, 1-1/2 inch IP x IP Full Port, and in accordance with enclosed Minimum Specifications; AY McD-76101W,	100	EA.	\$109.21	\$10,921.00	100	EA.	\$115.90	\$11,590.00	
81	Coupling, brass, straight meter coupling, 3/4-inch x 3/4-inch ribbed tailpiece, drilled swivel nut,	10,000	EA.	\$6.64	\$66,400.00	10,000	EA.	N/B	N/B	
82	Coupling, brass, meter coupling, 3/4-inch x 12-inch, and in accordance with enclosed Minimum Specifications; Ford C-38-23-12 or	10,000	EA.	\$33.02	\$330,200.00	10,000	EA.	N/B	N/B	
83	Coupling, brass, straight meter coupling, 1-1/2 inch x 1-1/2 inch ribbed tailpiece, drilled swivel nut, and in accordance with enclosed	50	EA.	\$27.60	\$1,380.00	50	EA.	N/B	N/B	
84	Coupling, brass, straight meter coupling, 1-inch x 1-1/4 inch ribbed tailpiece, drilled swivel nut, and in accordance with enclosed	400	EA.	\$10.03	\$4,012.00	400	EA.	N/B	N/B	
85	Adaptor, brass, 3/4-inch PVC x MIP, with steel insert stiffener, and in accordance with enclosed Minimum Specifications; Ford C86-	2,000	EA.	\$12.82	\$25,640.00	2,000	EA.	\$13.54	\$27,080.00	
86	Adaptor, brass, 1-inch PVC x MIP, with steel insert stiffener, and in accordance with enclosed Minimum Specifications; Ford C86-	1,500	EA.	\$19.91	\$29,865.00	1500	EA.	\$21.09	\$31,635.00	
87	Coupling, brass compression for PVC pipe, 3/4-inch, and in accordance with enclosed Minimum Specifications; Ford C77-33 or AY	1,300	EA.	\$17.28	\$22,464.00	1300	EA.	\$18.14	\$23,582.00	
88	Coupling, brass compression for PVC pipe, 1- inch, and in accordance with enclosed Minimum Specifications; Ford C77-44 or AY	300	EA.	\$29.38	\$8,814.00	300	EA.	\$31.11	\$9,333.00	
89	Coupling, brass compression for PVC pipe, 1-1/4-inch, and in accordance with enclosed Minimum Specifications; Ford C77-55 or	30	EA.	\$43.13	\$1,293.90	30	EA.	\$45.76	\$1,372.80	
90	Coupling, brass compression for PVC pipe, 1-1/2 inch, and in accordance with enclosed Minimum Specifications; Ford C77-66 or	200	EA.	\$56.73	\$11,346.00	200	EA.	\$60.14	\$12,028.00	
91	Coupling, brass compression for PVC pipe, 2-inch, and in accordance with enclosed Minimum Specifications; Ford C77-77 or	200	EA.	\$85.85	\$17,170.00	200	EA.	N/B	N/B	
92	Gate Valve, 1-1/2 inch, and in accordance with enclosed Minimum Specifications.	20	EA.	\$282.46	\$5,649.20	20	EA.	N/B	N/B	

Witness Signature:	_
--------------------	---

ITEM	DESCRIPTION	DEL	DELTA MUNICIPAL SUPPLY				RTILIN	E WATERV	VORKS
		Estimated Number of Units	Unit	Unit Price	Amount	Estimated Number of Units	Unit	Unit Price	Amount
93	Gate Valve, 2 inch, and in accordance with enclosed Minimum Specifications.	20	EA.	\$370.98	\$7,419.60	20	EA.	N/B	N/B
94	Gate Valve, 3 inch, non-rising stem, solid wedge disc and full flow FIP x FIP, and in accordance with enclosed Minimum	30	EA.	\$226.81	\$6,804.30	30	EA.	N/B	N/B
95	Gate Valve, 3/4-inch, and in accordance with enclosed Minimum Specifications.	4,000	EA.	\$18.71	\$74,840.00	4,000	EA.	N/B	N/B
96	Gate Valve, 1-inch, and in accordance with enclosed Minimum Specifications.	50	EA.	\$28.62	\$1,431.00	50	EA.	N/B	N/B
97	Gate Valve, 1-1/2 inch, and in accordance with enclosed Minimum Specifications.	500	EA.	\$46.92	\$23,460.00	500	EA.	N/B	N/B
98	Gate Valve, 2-inch, and in accordance with enclosed Minimum Specifications.	500	EA.	\$70.95	\$35,475.00	500	EA.	N/B	N/B
99	Resetter, Full port dual port and full port ball valve, 3/ 4-inch x 12-inch meter fitting, and in accordance with enclosed Minimum	200	EA.	\$126.17	\$25,234.00	200	EA.	N/B	N/B
100	Resetter, Full port dual port and full port ball valve, 3/4-inch x 18-inch meter fitting, and in accordance with enclosed Minimum	100	EA.	\$128.60	\$12,860.00	100	EA.	N/B	N/B
101	Resetter, Full port dual port and full port ball valve, 1-inch x 12-inch meter fitting, and in accordance with enclosed Minimum	100	EA.	\$165.95	\$16,595.00	100	EA.	N/B	N/B
102	Resetter, Full port dual port and full port ball valve, 1-inch x 18-inch meter fitting, and in accordance with enclosed Minimum	100	EA.	\$187.36	\$18,736.00	100	EA.	N/B	N/B
103	Retrosetter, meter, 3/ 4-inch x 4-1/8 inch, with dual angle cartridge check valve, Full Port, 3/ 4 inch angle ball valve, and in	10,000	EA.	\$138.18	\$1,381,800.00	10,000	EA.	N/B	N/B
104	Retrosetter, meter, 1-inch x 4-1/8 inch, with dual angle cartridge check valve, Full Port, 1 inch angle ball valve, and in accordance with enclosed Minimum Specifications; Ford #HHCA31-444, #BA13-444W, retro 4 CV-	250	EA.	\$269.22	\$67,305.00	250	EA.	N/B	N/B
105	By-Pass, meter, 1-1/2 inch complete with 1-1/2 inch test port, Full port, and in accordance with enclosed Minimum	75	EA.	\$729.15	\$54,686.25	75	EA.	N/B	N/B

Witness Signature:	_
--------------------	---

**ITB NAME: Small Brass Fitting and Gate Valves** 

#### DEPARTMENT OF PURCHASING CONTRACTING PRICE OPENING

Price Opening Date: Dec 31,	2018 @10:00 am
AGENT N	AME: Judi Moore

ITEM	DESCRIPTION	DELTA MUNICIPAL SUPPLY				FO	RTILIN	E WATERV	VORKS
		Estimated Number of Units	Unit	Unit Price	Amount	Estimated Number of Units	Unit	Unit Price	Amount
	By-Pass, meter, 2-inch, complete, with 2" Full port and in accordance with enclosed Minimum Specifications.	75	EA.	\$728.56	\$54,642.00	75	EA.	N/B	N/B
TOTAL									

Number of Bids Received: 5								
LSBE Participation	Ye	s	Yes					
Attendance at the Mandatory LSBE Meeting (Yes or No)	Ye	s			Yes		='	
Bid Pricing in separate sealed envelope (Yes or No)	Ye	Yes				=' =		

Recommend Award to:

Delta Municipal Supply, 408 Jessee Cronic Road, Braselton, GA 30517 Fortiline Waterworks, 321 Highway 411 NE, White, GA 30184

Construction Pipes and Supply was deemed non-responsive for failure to attend a mandatory LSBE conference.

Hayes Pipe Supply and Ferguson Waterworks were deemed non-responsive for failure to provide supporting documentation to support GFE.

Angel Frazier
Witness Signature: Judi Moore

Purchasing Director Signature:

BOC Award Approval Date:
--------------------------